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LC50 0.052 mg/t 96 hr (Amides; E=3| o=l Xl &0t 0=t A2

LC50 0.104 mg/t 48 hr (Amides; E=5| oI Xl &0t OI=ot)| A2

EC50 0.066 mg/f 96 hr (Amides; =06l Eoll &l XI &0t 0 =5t0] 0iA=2

(Cut-off value=-0.8917, =i & (BIOWIN7))

ch. 2EZ0lS4

9724 (E20 B3 & US)

O JIEH Roll Ze

= el

0lo

202 LiEte)

202 LiEte)

202 LiEHY)

13. RE LD

JbHID e

PNI=R=A

olo

Lt HI DAl =2l ALS

(2 0l SAIE LHE0 Tt 22 8I1E HIIGHAIL.

14. Bgik E DR

Chemical Book



00
38

00

=
I[s]

0o
53

00

-
([}

no
ulo

00

0o
33

00

=
[s]

R
il
30
20

=
1o

ol
&3
4

A

O

HH.ALE XL 25

ST Al I

0o
33

00

=
[[s}

=4
Ki

-

20

=<
L]
Ok

00
33

00

=
[}

15. § & A & &

0lo
53
a0

=
([}

Al

&t

cl&gol 2

0o
3
0

==
1o

Al

5t

clgol 2

=

ot

0lo
53
a0

=
[}

Al

HOI=S 22l Hol 2 st

ct.

00
3
00

=3
1o

ol 2l &t Xl

il
:_.

Ot JIEt =W & 2

= U

0o
53

a0
=
o

JIEE=U A

0lo
53

00

-
([}

=2A7H

=222 (0OSHA 1 &)

0lo
38

00

-
o

0l=22| 8 2 (CERCLA 1 X)

]
38

00

-
o

Ol=2cl & 2 (EPCRA302 -1 &)

0o
3

00

-
o

Ol=2cl & 2(EPCRA304 1 &)

Chemical Book



o
UL
£
alo

DI= 22 & & (EPCRA 313 7 )
Hes

D=2 Y (RS HASE)
Hes

DB YP(ASESHASE)
Hes

DR (REASARMER)
Hes

EUSRI2 (22D
Hels
EUSRER(AE27)
Heels
EUSREZ(AE2T)
sHeels

=S
ZASHELXR
2023-12-23

ch. JlE

>
)]
0
olo

iz X5t

0]l MSDS?| 32 = X& &
MZ AZXUAH HEtst &
MOl = WOk St M

X

Pru}

;:J O

o}
\_
oo
==

D9

S0 €S2 YA
e A T A
= EERIE

ted A= 2 MSDS AtE

EJH

=
\jI

(%2}
JAn

Chemical Book



